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Number Series Questions for SBI Clerk Mains, LIC AAO Pre, RBI
Asst. Mains, SBI PO Pre, IBPS Clerk Mains, IBPS PO Pre and IBPS
RRB Exames.

Number series Quiz 60
Directions : Find the wrong term in the given series.

1. 639 657 675 693 712 720

A. 657 B. 675 C.639 D. 712 E.720
2. 32 144 576 2020 6048 15120

A.576 B. 2020 C. 6048 D. 15120 E. 144
3. 36 40 89 284 1157 5821

A. 40 B. 89 C.284 D. 1157 E. 5821
4 61 85 113 150 181 221

A. 85 B.113 C. 150 D. 181 E. 221
5. 84 155 258 399 584 820

A. 155 B. 258 C. 399 D. 584 E. 820
6 21 315 63 160 4725 1653.75 6615

A.63 B. 6615 C.315 D. 21 E. 160
7 16 27 43 64 90 120

A. 64 B. 43 C.120 D. 16 E. 90
8. 304 305 310 340 404 529 745

A. 310 B. 305 C.529 D. 404 E. 745
9. 7 125 30 56.5 95 1445 205

A.7 B. 205 C.30 D. 144.5 E. 95
10. 7500 1505 160.5 37.1 25.71 7.742 10.7742

A. 1505 B.37.1 C.7.742 D. 25.71 E. 160.5




Correct Answers:

1 2 3

10

Explanations:

1.

Series Pattern Given Series

639 639
639+ (6 +3 +9) =657 657
657+ (6+5+7) =675 675
675+ (6+7+5)=693 693
693+(6+9+3)=711 712

711+ (7+1+1)=720 720

Hence, option (D) is correct.

Series Pattern Given Series
32 32
32x4.5=144 144
144 x 4 =576 576
576 x 3.5 =2016 2020
2016 x 3 =6048 6048

6048 x 2.5=15120 15120

Hence, option (B) is correct.

Series Pattern  Given Series
36 36
36 x1+2%=40 40
40x2+3°=89 89
89 x 3 +42=283 284
283 x4+5%=1157 1157

1157 x5+6°=5821 5821

Hence, option (C) is correct.

N XSNSNSS

N S XS SS

N SXSNSNS




Series Pattern Given Series
52+62=61 61
6°+7°=85 85
7’ +8%=113 113

8%2+9°=145 150

9%+10%=181 181

10%+11%=221 221

N SXSNSS

Hence, option (C) is correct.

Series Pattern Given Series
43+ 4%+ 4=84 84
5°+52+5=155 155
6°+6°+6=258 258
7+7°+7=399 399
8°+8°+8=584 584

9°+92+9=819 820

X NSNSNSNS

Hence, option (E) is correct.

Series Pattern Given Series

21 21
21x1.5=315 31.5
31.5x2=63 63
63 x 2.5=157.5 160

157.5x3=472.5 472.5
472.5x3.5=1653.75 1653.75
1653.75 x4 = 6615 6615

SNSNSSIXSNKSS

Hence, option E is correct.
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07.

Series Pattern:

Series| :16 27 43 64 90 121
Seriesll : +11 +16 +21 +26 +31
Series Il : +5 +5 +5 +5

Hence, there must be 121 in place of 120.

Therefore option (C) is correct.

Series Pattern Given Series

304 304
304+1°x1=305 305
305+2%x2=313 310
313+3*x3=340 340
340 +4*x 4 =404 404
404 +5°x5=529 529
529+6°x6=745 745

RIS XSS

Hence, option A is correct.

Series Pattern Given Series

7 7 v/
7+0.5x11=12.5 12.5 v/
12.5+1.5x11=29 30 X
29+2.5x%x11=56.5 56.5 4
56.5+3.5x11=95 95 4

95+4.5x11=144.5 1445 /
1445+5.5x 11 =205 205 v/

Hence, option Cis correct.

-
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10.

Series Pattern Given Series
7500 7500
7500+ 5 + 5 =1505 1505
1505+ 10 + 10 = 160.5 160.5
160.5+5+5=37.1 37.1 v
37.1+10+10=13.71 25.71 X
13.71+5+5=7.742 7742 /
7.742 +10+10=10.7742 10.7742 /

Hence, option D is correct.
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